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k|f=p=;]= kbsf pDd]bjf/ 5gf}6sf] ljljw laifosf] kf7 \oqmd 
-cfGtl/s_ 

 

;doM− 1 #)^f 30 ldg]̂  
k")ff{° M− 50 
pQL)ff{° M− 20 

 
of] kf&\oqmd g]kfnL ;]gfsf] k|f=p=;]= cfGtl/s kbsf pDd]bjf/ %gf}̂  kl/Iffsf] nflu lgwf{/)f 

ul/Psf] xf] . k|f=p=;]= kbsf pDd]bjf/ %gf}̂ sf] nflu ljljw laifosf] g]kfnL, c+u|]hL, ul)ft / 
;fdfGo!fg ;DalGw ljifonfO{ cfwf/ dfgL k|Zgx? ;f]lwg] % .  
 
 -s_ lnlvt kl/Iffsf] dfWod g]kfnL÷c+u|]hL efiff x"g]% .  
 -v_ lnlvt kl/Iffaf^ %gf}̂  ePsf pDd]bjf/x?nfO{ dfq csf]{ r/)fsf] kl/Iffdf ;lDdlnt 

u/fO{g] % . 
 -u_ k|Zg kq lgdf{)f ubf{ ;Dej eP;Dd kf&\oqmddf ;dfj]z ePsf ;a} ljifox?nfO{ 

;d]̂ \g" kg]{% .   
-#_  g]kfnL ;]gfsf] tTsflng cfjZostf tyf ljljw kl/l:ytdf g]kfnL ;]gf cg"s"n x"g] 
u/L pNn]lvt ljj/)fx?df x]/km]/ x"g ;Sg]% . 
-ª_ kf&\oqmd nfu" ldlt M 2070÷04 ÷10 ut]b]lv . 

    

lnlvt lnlvt lnlvt lnlvt ----ljljw_ k/LIff of]hgf ljljw_ k/LIff of]hgf ljljw_ k/LIff of]hgf ljljw_ k/LIff of]hgf ----Written Examination Scheme____    

k|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;d    c+sc+sc+sc+s    k')ff{°k')ff{°k')ff{°k')ff{°    pQL)ff{°pQL)ff{°pQL)ff{°pQL)ff{°    k|Zg ;+Vof k|Zg ;+Vof k|Zg ;+Vof k|Zg ;+Vof X    c+sc+sc+sc+s    ;do;do;do;do    
c+u|]hL 12=5 

50 20 
laifout -Subjective_ M 21 
a:t"ut -MCQ_ M 58X0=5=29 

1 #)^f 
30 ldg]̂  

g]kfnL 12=5 

ul)ft 12=5 

;fdfGo!fg 12=5 



 

v)* æsÆ c+u|]hLv)* æsÆ c+u|]hLv)* æsÆ c+u|]hLv)* æsÆ c+u|]hL    

 k|Zgsf] lsl;d k|Zg ;+Vof / c+s hDdf c+s 
j:t'ut ax'j}slNks k|Zg -MCQ_ 10× 0=5 5 
ljifoutk|Zg -Subjective_ 

1= %f]̂ f] pQ/ 
2= nfdf] pQ/  

 
5× 1 
1× 2=5 

 
5 
2=5 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    

 

Unit One: Reading Comprehension     (5x1=5)  

 Comprehension Passage 

A passage with a paragraph (about 150 words) will be given and five comprehension questions will be asked. Each 

correct answer carries 1 mark and evaluation will be made on the basis of language and content.   

Unit Two: Writing        (2.5) 

Paragraph writing (about 75 words) 

Candidates will be asked one question from this unit that contains 2.5 marks and evaluation will be made on the basis of 

content, coherence and language 

Unit Three: Grammar       (10x0.5=5) 

1. Articles  

2. Pronouns 

3. Adjectives  

4. Prepositions (in, on, at, by (location and time), since, for 

5. Questions 

. Yes/no questions 

.  Questions tags 

.  Information questions 

6. Transformations: 

. Affirmative and negative sentences 

. Interrogative sentences 

. Active and passive sentences 

7. Tense  

Note : From this unit candidates will be asked 10 multiple choice (content based) questions and each question carries 

0.5 mark. 



v08 ævÆ ul0ft 

k|Zgsf] lsl;d k|Zg ;+Vof X c+s hDdf c+s 

j:t'ut ax'j}slNks k|Zg 13 × 0=5 6=5 

ljifoutk|Zg 3 × 2 6 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    

 

!= ;d'x (Sets)         -!_ 

;j{JofkL ;d'x (Universal set) / pk ;d'x(Subset) sf] wf/0ff 

;d'xx?sf] ;+of]hg (Union )tyf k|ltR5]bg(Intersection) ;DaGwLwf/0ff 

@= c+s ul0ft (Arithmetic)       -@_ 

;do / sfo{ (Time and work) 

gfkmf / gf]S;fg (Profit and loss) 

;fwf/0f Jofh (Simple interests) 

#= If]qldlt (Mensuration)       -@_ 

lqe'h, rt'e'{h / j[Qsf] If]qkmn (Area of triangles, quadrilaterals and circles) 

uf]nf, a]ngf / 3gfsf/ a:t'sf ;tx If]qkmn / cfotg (Volume and surface area of sphere, cylinder and cuboid) 

$= jLh ul0ft (Algebra)        -@_ 

jLhLocleJoGhsx?sf] hf]8 / 36fpm ;+alGw ;/nLs/0f (Simplification on addition and subtraction of algebraic 

expressions) 

tLgklbocleJoGhsx?sf] vl08s/0f (Factorization of trinomials) 

ju{ ;dLs/0fx?sf] xn (Solution of quadratic equations) 

%= HofldtL (Trigonometry)      -@_ 

lqe'h / ;dfgfGt/ rt'e'{h ;+alGw ;fWox? (Theorems on triangles and parallelograms) 

j[Qsf s]lGb|o / kl/lwsfsf]0fx?sf] ;+aGw (Relation between the central and the circumference angles on the same arc of 

a circle) 

lqe'h / rt'e'{hx?sf /rgf (Construction of triangles and quadrilaterals) 

^= lqsf]0fldtL (Trigonometry)       -@_ 

Sine Law af6 lqe'hsf] If]qkmn(Area of a triangle from Sine Law) 

b"/L / prfO{ ;+alGw ;d:ofx? (Problems on heights and distances) 

&= tYof+szf:q(Statistics)       -!_ 

cjlu{s[t tYof+sx?sf] dWos, dlWosf / /Lt ;+alGw ;d:ofx? (Problems on mean, median and mode of discrete data) 

*=;DefJotf(Probability)       -)=%_ 



 

v)* v)* v)* v)* …uuuuÚÚÚÚ    g]kfnL g]kfnL g]kfnL g]kfnL     
k|Zgsf] lsl;d k|Zg ;+Vof X c+s hDdf c+s 
j:t'ut ax'j}slNks k|Zg -MCQ_ 10× 0=5 5 
ljifoutk|Zg -Subjective_ 

1= %f]̂ f] pQ/ 
2= nfdf] pQ/  

 
5× 1 
1× 2=5 

 
5 
2=5 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    

 
1=1=1=1=    Jofs/)f Jofs/)f Jofs/)f Jofs/)f ----cªcªcªcª\\\\sM 5_sM 5_sM 5_sM 5_    
 -s_ j)f{ljGof; —     1 

-v_ zAbe)*f/ -kof{ojfrL / ljk/LtfyL{_  — 1  
-u_ zAblgdf{)f -pk;u{, k|Too / ;df;_ — 1 

 -#_ jfSotTj / jfSofGQ/)f -sfn, kIf, efj, jfRo, jfSo, lnª\u, jrg, k"?if, cfb/_- 2 

2=2=2=2=    af]w af]w af]w af]w ----cªcªcªcª\\\\sM 5_sM 5_sM 5_sM 5_    
g]kfnL efiffdf n]lvPsf] 150 zAb;Ddsf] s"g} Ps uBf+zlbO{ kf+rcf]^f k|Zg ;f]wL ltgsf] 
%f]̂ f] pQ/ vf]Hg] . 
 

3=3=3=3=    /rgf /rgf /rgf /rgf ----cg"R%]b n]vg_ cg"R%]b n]vg_ cg"R%]b n]vg_ cg"R%]b n]vg_ ----cªcªcªcª\\\\sM 2=5_sM 2=5_sM 2=5_sM 2=5_    
j:t"k/s jf cfTdk/s z}nLsf] s"g} Ps zLif{s lbO{ 75 zAb;Ddsf] cg"R%]b /rgf ug{ lbg] . 
 

    

v)* æ#Æ ;fdfGo!fg v)* æ#Æ ;fdfGo!fg v)* æ#Æ ;fdfGo!fg v)* æ#Æ ;fdfGo!fg     

ljifoljifoljifoljifo    k")ff{°k")ff{°k")ff{°k")ff{° k|Zgsf] k|sf/k|Zgsf] k|sf/k|Zgsf] k|sf/k|Zgsf] k|sf/    c+sef/c+sef/c+sef/c+sef/    s}lkmots}lkmots}lkmots}lkmot    

;fdfGo!fg 12=5 a:t"utM ax"a}slNks 25 j^f k|Zg X=5= 12=5  

1= g]kfnsf] e"uf]n, O{ltxf; ;+:s[lt / ;fdflhs cj:yfg]kfnsf] e"uf]n, O{ltxf; ;+:s[lt / ;fdflhs cj:yfg]kfnsf] e"uf]n, O{ltxf; ;+:s[lt / ;fdflhs cj:yfg]kfnsf] e"uf]n, O{ltxf; ;+:s[lt / ;fdflhs cj:yf -    6X.5=3 

-s_ e"-agf]̂ , kj{t >[ªvnf, glb, lxdgbL, hn jfo" / xfjfkfgL, P]ltxfl;s :yn tyf agh+un . 
 -v_ cfw"lgs g]kfnsf] O{ltxf; . 

-u_ g]kfnsf] /fhg}lts / ;fdflhs cj:yf 
-#_ k|rlnt wd{, ;+:s[lt, k/Dk/f, hfthftL / efiff 

2= ;"/Iff ;]gf;+u ;DalGw;"/Iff ;]gf;+u ;DalGw;"/Iff ;]gf;+u ;DalGw;"/Iff ;]gf;+u ;DalGw -        5X.5=2=5 

-s_ g]kfnL ;]gf /fli «̂o lgdf{)fdf g]kfnL ;]gf, zflGt ;]gfdf ;xeflutf, ;]gfsf ljleGg  bhf{ / 
bHof{gL lrGxx? . 

 -v_ g]kfn k|x/L - bhf{ / bHof{gL lrGxx? . 
 -u_ z;:q k|x/L - bhf{ / bHof{gL lrGxx? . 

3= lj!fg÷k|ljlw  ;DalGwlj!fg÷k|ljlw  ;DalGwlj!fg÷k|ljlw  ;DalGwlj!fg÷k|ljlw  ;DalGw -        4X.5=2 

 -s_ Voflt k|fKt a}!flgsx? . 
 -v_ cGj]if)f tyf cfljisf/x? . 

4= If]lqo ;+u&g tyf cGt/f{li «̂o ;+# ;DalGw ;fwf/)f hfgsf/LIf]lqo ;+u&g tyf cGt/f{li «̂o ;+# ;DalGw ;fwf/)f hfgsf/LIf]lqo ;+u&g tyf cGt/f{li «̂o ;+# ;DalGw ;fwf/)f hfgsf/LIf]lqo ;+u&g tyf cGt/f{li «̂o ;+# ;DalGw ;fwf/)f hfgsf/L -   4X.5=2 

 -s_ ;fs{ . 
 -v_ UN = 



 

 

5= v]ns"b ;DalGw ultlv]ns"b ;DalGw ultlv]ns"b ;DalGw ultlv]ns"b ;DalGw ultljlw -         4X.5=2 

 -s_ g]kfn - km"nan, lqms]̂ , elnan, Pyn]l^S;, alS;é . 
 -v_ If]lqo - km"̂ an, lqms]̂  . 

6= ;+If]lks/)F ;+If]lks/)F ;+If]lks/)F ;+If]lks/)F ----Abbreviation)  -        2X.5=1 

 -s_ ;"/Iff;+u ;DalGwt . 
 -v_ UN ;+u ;DalGwt . 
 -u_ If]lqo ;xof]u ;+u&g;+u ;DalGwt . 
  

 

 

 



gd"gf k|Zggd"gf k|Zggd"gf k|Zggd"gf k|Zg    

c+u|]hLc+u|]hLc+u|]hLc+u|]hL  

Tick (√) the correct answer.      []  

a. The cattle …….grazing now 

i. has been   ii. is     iii. are   iv. was 

 b.  She is used to……alcohol 

       i. take    ii. Taking   iii. taken  iv takes    

  

 ul)ft 

Tick the most probable answer. 13 × 0.5 = 6.5 

1. Which one of the following is not the subset of {
, �, 
, �}? 

a. {
, �, 
}     b. {�, 
, �}      c. {
, �, �}         d.	{
, 
, �} 

2. Which one is the intersection of {1,3,4,6} and {1,2,3,5}? 

a. {1,2,3}     b. {1,3}      c. {2,3,4}         d.	{3,4,6} 

 

g]kfnL 
1=1=1=1=    ;xL pQ/ %fGg"xf];;xL pQ/ %fGg"xf];;xL pQ/ %fGg"xf];;xL pQ/ %fGg"xf];\\ \\    MMMM                        ----0=50=50=50=5����10101010= 5_5_5_5_    
 s_ z"$ j)f{ljGof; ePsf] zAbs"gxf] < 
  c_ cWoogzLn  cf_cWogzLn  O_ cw]og;Ln  O{_ cWoPgzLn 
 v_ …phf*ÚzAbsf] ljk/LtfyL{ zAbs"gxf] < 
  c_ ?vf]   cf_  xl/ofnL  O_ ;"Vvf  O{_ d?e'ld 
  


